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overlapping generations model

12,000
2001 2020 2021 2040 2041 2060
1941 60 79
1961 40 59 60 79
12,000
1981 20 39 40 59 60 79
12,000 12,000
2001 20 39 40 59
12,000 12,000
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2001 12,000
2021
1941 4000
2001 4000
2001 2020 2021 2040
1941 4,000 4,000
1961 12,000 6,000
6,000 4,000
4,000
1981 12,000 12,000
6,000 6,000
4,000 4,000
2001 12,000 4,000
4,000
23
20 39 12,000 4,000 8,000
40 59 12,000 4,000 8,000
60 69 8,000 8,000
12,000
2001 2020 1961 1981
16,000 8,000 8,000
2020 20,000 12,000
8,000
4,000
Quiz: 4,000

Hint:
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Ricardian equivalence

Quiz:

23




